©) O #d: (Correct Answer)
D) O &4&:

Question No.2 (Question Id - 45)
Find out the one word among the options which cannot be formed by using the letters of
the word as given in the question.

DOCTRINE :
(A) O CRUST (Correct Answer)

() O DOCTOR
(C) O TIRED
(D) O CREED

Question No.3 (Question Id - 12)
AT T T T 378 3N fed FAHTUCaY YeodH - A. AR

B. Ot

(A) O FaaAgeas |

(B) O ¥qei B 5FaF |

(C)O 33 A, B @& | (Correct Answer)
D) O 337 A, B 7 37570 |

Question No.4 (Question Id - 57)
In each of the questions given below, there are four options. Find out the one that is
correct in verification of the given statement.

A mirror always :
(A) O refracts

(B) O distorts
(C) O distracts
(D) O reflects (Correct Answer)

Question No.5 (Question Id - 66)
Statement I:

An elephant cell has more DNA content than a mouse cell.

Statement II:
www.FirstRanker.com
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iR)ﬁ thﬁa ﬁkeﬁtt}tﬁt‘tement Il is correct. (Correct Answer)

Case Study - 6 to 10 (Question Id Y8§)v.FirstRanker.com www.FirstRanker.com
In the following questions, select the right option on the basis passage given.

ﬂaﬁr AT Qm doidl | FeE] ded fdeggcaresha-aad AfFd STld gAY 37Ed, AT IoseAq
Fegraeaa FH A | A I fHAM STaf ag HaedRg AHRETH 0N | A A1ad Y
AT dIaed ded seoT AT Jorad) 3% Hoad | WWWWWWW
geelcrar Tdredt Afed: safd ¥, AT AWH STOTAETT aEdH “sufeafa: Tauag aoad ©F |
3cTcd FAAL: HUGcdld o IR ST UHCHN dhq gRafd Ui A eI fHegHm
aqﬁm?ram;raﬁf T 3T GAY: | TACTelgeTey Gaffa #eTq: T5<elal J YA€l ve | FI?HEB_ZI?T
* FeT: UG HSATON FROUT S-TeraY:” | Fead: fAarg: 3 arieT ol e gfc 39 AU decarde
Wemwal FYH ITATA: HA: Wﬁaﬁ—qﬁﬁrﬁw g Iﬂﬁﬁﬂlﬁ?@wﬁ
T aE aFadY Afragwr sfasafy | g va A g A meﬁmm
o J APRICHH AT |

S

~

Question No.6 (Question Id - 37)
7 3 erseey o forgare 2

(A) O gfeergam

B) O enfage

(€) O TIHFHAZIH (Correct Answer)
D) sorfargom

Question No.7 (Question Id - 38)
HTEA AT i fdsedveria afed ?
(A) O 15 (Correct Answer)

(B) O 12
(C)O 14
(D)O 16

Question No.8 (Question Id - 39)
HTET fo1a1g: T8I ] A ST HU HEY 3T 2
A) O aresis:
B) O 3gearaew (Correct Answer)

) O shgsorex

(
(
(c
(D) O oy

Question No.9 (Question Id - 40)
HEYTOT HATAT TTHREY I[EUMT ?
(A) O HISTET

B) O garerew

©) O

D) Oz (Correct Answer)
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B) O e

©)O a. (Correct Answer)
D) O t:

Question No.12 (Question Id - 21)
TIAIH ST It ol -

A) O g

B) O afaer

(C) O 3frg (Correct Answer)
D) O e

Question No.13 (Question Id - 80)
The tissue that is responsible for buoyancy in aquatic plants is :

(A) O chlorenchyma
(B) O chollenchyma
(C) O airenchyma (Correct Answer)
(D) O sclerenchyma

Question No.14 (Question Id - 33)
srenfafEay e arerg e -

A) O g s7fer |

(B) O E;RT: dH: |

€O % AATT | (Correct Answer)
D) O sreor safay |

Question No.15 (Question Id - 20)
ST 3Tt U IeNTATEAY het fasvezd ?
A) O w1+ e (Correct Answer)

(B) O SfeT +3T
€O et + e

() O s+ ot

Question No.16 (Question Id - 85)
Anther contains :

(A) O sepals
(B) O ovules
(C) O carpels
(D) O pollen grains (Correct Answer)

QuestionNo-1+7(Questiontd—56)
In the following question, select the r\llcviht plglrs { I / 8t s the correct relationship




I lU)E i' HIIIIIEGUGU . Eujﬂl dat \vuvlicuL Allovwel)

A QGsstion Nocr8s(Qhestion Id - 28) w
STl 2TeGEY ‘STATTel’ ASGHT Tckel -
(A) O gorr, vergaes

ww.FirstRanker.com www.FirstRanker.com

(B) O geast, vaasia1 (Correct Answer)
©) O yerr, sga=e=
(D) O geash, gfaaaster

Question No.19 (Question Id - 46)

If 215t November falls five days before Wednesday, then what will be the day on 25
December ?

(A) O Wednesday

(B) O Sunday

(C) O Friday

(D) O Thursday (Correct Answer)

Question No.20 (Question Id - 51)
In the following question, select the number(s) from the given options for completing the
given series.

1,6,12,19,27,7?

(A) O 38

(B) O 36 (Correct Answer)
(C)O 35

(D)O 34

Question No.21 (Question Id - 72)
Tridosh in Ayurveda is based on which of the following ?
(A) O Vata, Pitta, Kapha (Correct Answer)

(B) O Dhatu, Pitta, Kapha
(C) O Sattva, Rajas, Tamas
(D) O Cholesterol, Blood pressure, Sugar

Question No.22 (Question Id - 86)
A ray of light after refraction through a prism :
(A) O bends away from its base

(B) O bends towards its base (Correct Answer)
(C) O moves parallel to its base
(D) O gets reflected back to the source

Question No.23 (Question Id - 10)
U>dISINH ScIF oh: ATH: ?

(A) O g
(B) O srearfremrawama: (Correct Answer)
©)O zareaaama:

(D) O agﬁﬁ%ﬂ?:rm:
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B) O srerfisragaTa:
©) O wavumagam:
D) O sgdfeasm:

www.FirstRanker.com

Question No.26 (Question Id - 55)

In each of the following question; three words are alike in some manner. Spot the odd
one out.

(A) O Cub

(B) O Chicken (Correct Answer)
(C) O Pig

(D) O Lamb

Question No.27 (Question Id - 23)

A) O Freasr:, YAAYEY:, Gfaaa«id (Correct Answer)
B) O feesR:, guagey:, gfdaaas

©)O Fgemr:, gaagey:, gfdawda

DO RfafegesR:, y2Hgey:, gieaTa

Question No.28 (Question Id - 58)

In each of the questions given below, there are four options. Find out the one that is
correct in verification of the given statement.

| am walking towards North. | will see the Sun :
(A) O rising on my left

(B) O setting on my right

(C) O rising on my right (Correct Answer)
(D) O infront of me

Question No.29 (Question Id - 18)
(A) O car

B) O aear
€O FcdTl (Correct Answer)
D) O faam

Question No.30 (Question Id - 97)
Which of the following are physical changes ?

A. melting of iron metal

B rue‘ring of iran

www.FirstRanker.com
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A figure is considered as circle when :
(A) O itis divided into four equal parts.

(B) O it has two right angles.
(C) O ithas alarge area.
(D) O it has no angles. (Correct Answer)

Question No.32 (Question Id - 82)

Match List - | with List - 11 :

List - 1 List - 11
A. Tuberculosis I. Water borne disease
B. Cholera Il. Bite of culex mosquito
C. Japanese encephalitis [lll. Air borne disease
D. Rabies IV. Bites of infected animals

Choose the correct answer from the options given below :

O A-,B-Ill,C-IV,D-1l
B)O A-I,B-1I,C-IV,D-1
(C)O A-Iv,B-I,C-1I,D-1l
(D)O A-l,B-1,C-Il,D -1V (Correct Answer)

Question No.33 (Question Id - 76)
Which part of the plant gives rise to haploid plants in tissue culture ?

(A) O Endosperm

(B) O Leaftip

(C) O Root tips

(D) O Pollen grains (Correct Answer)

Question No.34 (Question Id - 4)
A + T eI AieH $% -

A) O Feera:

B) O geerr: (Correct Answer)
© O dceld:

D) O ggax

Question No.35 (Question Id - 44)

Find out the one word among the options which cannot be formed by using the letters of

the word as given in the question.

JUDICIARY :
www.FirstRanker.com
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C. 6.022 x 10°° molecules of H,O

D. 1.2044 x 1025 molecules of H,0

Choose the correct answer from the options given below :

(A) O Aonly

(B) © AandD only

(C) O BandC only

(D) O B and D only (Correct Answer)

Question No.37 (Question Id - 70)
The science of surgery in ancient India was developed by :
(A) O Panini
(B) O Susruta (Correct Answer)
(C) O Aryabhatta
(D) O Patanjali

Question No.38 (Question Id - 78)
Organelle without cell membrane is :
(A) O Ribosome (Correct Answer)

(B) O Golgi Apparatus
(C) O Chloroplast
(D) O Nucleus

Question No.39 (Question Id - 16)
BT 3R 0 TN ¥t Forsurezy 2
(A) O %+ 9gd (Correct Answer)
B)O z+ T
©)O z+gema
DO =+ uqel

Question No.40 (Question Id - 26)

GUGERE! It - 2
A Ofg . TCTDIR:
B. U4  |II. SRR

c. gg@gfd . faf¥fgaeR:
D. dfdd  |Iv. TICaBR:

O A-IV,B-IlIl,C-IlI,D -1 (Correct Answer)

B)O A-1,B-1Il,C-1I,D-IV

www.FirstRanker.com
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Question No.42 (Question Id - 101)
The chemical responsible for the destruction of ozone is :
(A) O Methane

(B) O Chlorofluorohydrocarbons (Correct Answer)
(C) O Hydrofluorocarbons
(D) O Compressed natural gas

Question No.43 (Question Id - 1)
(B) O =y + 31TH (Correct Answer)
©) O 1+ 3pm
D) O 3+ 3TH

Question No.44 (Question Id - 56)

In each of the following question; three words are alike in some manner. Spot the odd
one out.

(A) O Cone (Correct Answer)
(B) O Circle

(C) O Triangle

(D) O Square

Question No.45 (Question Id - 32)
‘qTeTehT: T 3far ITFIET sraarey uRafdd &9 add -
(A) O qTeleh: A |
(B) O arerd: erzaa | (Correct Answer)
©C)O groe: s |
D) O grere: ezae |

Question No.46 (Question Id - 100)
Isotopes of an element have :
(A) O the same physical properties
(B) O different chemical properties
(C) O different numbers of neutrons (Correct Answer)
(D) O different atomic number

Question No.47 (Question Id - 79)
Fats are stored in human body as cuboidal epithelium :
(A) O Cuboidal epithelium

(B) O Adipose tissue (Correct Answer)
(C) O Bones
(D) O Cartilage
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(B) O Pulmonary vein (Correct Answer)

(C) O Coronary artery
(D) O Coronary vein

Question No.50 (Question Id - 94)
Which of the following are not ionic compounds ?

A. KCI
B. HCI
C. cCl,

D. NaCl

Choose the correct answer from the options given below :

(A) O AandB
(B) O B and C (Correct Answer)
(C)O CandD
(D) ©O AandD

Question No.51 (Question Id - 35)
FNRRAY g A e -
(A) O #ed qsu e |
B) O g7 o e |
©) O Far qvd e |
(D) O HET I59 A=A | (Correct Answer)

Question No.52 (Question Id - 84)

A basket of vegetables contains carrot, potato, radish and tomato. Which of the item
represents the correct homologous structures ?

(A) O Carrot and potato
(B) O Carrot and tomato
(C) O Radish and carrot (Correct Answer)
(D) O Radish and potato

Question No.53 (Question Id - 34)
renfaf@ay g arerg e -
(A) O gdfg fa@fax | (Correct Answer)
(B) O gtfor fysifey |
© O wéfasf |
D) O ge iy |

Question No.54 (Question Id - 61)
In the following question. select the best option as answer to the given statement.

www.FirstRanker.com
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© O afenfafy
D) O aferaifa

www.FirstRanker.com

Question No.56 (Question Id - 17)
A) O varg

(B) O e

(€) O &9 (Correct Answer)
(D) O g

Question No.57 (Question Id - 68)
Nuclear membrane is absent in :
(A) O Neurons

(B) O Penicillin sp.
(C) O Escherichia coli (Correct Answer)
(D) O Plant guard cells

Question No.58 (Question Id - 49)

In the following question, select the right option which indicates the correct relationship

as given in the example.

Example — Injury : Pain

(A) O Grades : Merit

(B) O Thunder : Lightening (Correct Answer)
(C) O Rotate : Churning

(D) © Matter : Labour

Question No.59 (Question Id - 7)

FafeRad difcreed EHT GHAETATYR SHHifaRady S| 3w e -

ATt - 1 qiferet - 2
A B+ 38 . BRIE
B. BI%: + 38 I BY58
C. gl +38 . 8438
D. B3 + 38 \v. gufdg

O A-Iv,B-I,C-1l,D-1
B)O A-Il,B-1,C-Illl,D-IV (Correct Answer)
C)O A-IvV,B-I,C-1lI,D-1I

D)O A-I,B-I,C-1I,D-1IV
www.FirstRanker.com
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(A) O Cytokinin (Correct Answer)
(B) O Estrogen

(C) O Insulin

(D) O Renin

Question No.62 (Question Id - 43)

In the following questions, select the right option which indicates the correct code for the
word and letter given in the question.

If MUSK is coded as 146816; then ZERO will be coded as :
(A) O 113811

(B) O 122912 (Correct Answer)
(C) O 15915
(D) O 2651815

Question No.63 (Question Id - 65)

Match List | with List I1.

List - 1 List - 11
A. Bacteria l. Malaria
B. Virus Il. Dandruff
C. Protozoa lll. Pneumonia
0. Fungus V. Measles

Choose the correct answer from the options given below :

O A-lILB-I,C-1I,D-IV
B)O A-lI,B-IV,C-1,D-Il (Correct Answer)
C)O A-ILB-Il,C-1v,D-1l
(D)O A-IV,B-I,C-1l,D-1l

Question No.64 (Question Id - 25)
A) O Feamre

(B) O reeraRex (Correct Answer)
©) O Rfafeaere

D) O sgemred

Question No.65 (Question Id - 14)
JRATST: 57 &: FAN: ?
(A) O ey ATH: (Correct Answer)
B) O sreahmagara:

LU gareaaars:

www.FirstRanker.com
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Question No.67 (Question Id - 53)

In the following question, select the number(s) from the given options for completing the
given series.

27, 28, 25, 25, 23,22,21, ?
(A) O 20

(B) O 21

(C) O 19 (Correct Answer)
(D)O 18

Question No.68 (Question Id - 89)
The unit of power is :
(A) O Watt per second

(B) O Joule
(C) O Kilo joule
(D) © Watt (Correct Answer)

Question No.69 (Question Id - 95)
A molecule of ammonia (NH3) has :

(A) O only single bonds (Correct Answer)
(B) O only double bonds

(C) O only triple bonds

(D) O 2 double bonds and 1 single bonds

Question No.70 (Question Id - 59)
In each of the questions given below, there are four options. Find out the one that is
correct in verification of the given statement.

What is always associated with a tree ?
(A) O Roots (Correct Answer)

(B) O Branches
(C) O Flowers
(D) O Leaves

Question No.71 (Question Id - 96)
The chemical formula of baking soda is :
(A) O NacCl
(B) O CacCly
(C) O NaOH
(D) O NaHCOj (Correct Answer)

Question No.72 (Question Id - 93)

Before playing the orchestra in a musical concert, a sitarist tries to adjust the tension and
pluck the string suitably. By doing so, he is adjusting

(A) O intensity of the sound only

L)

yan\ Lol £ Ll 2l 1
\I_J} N\l GIII}JIII.UUU Ul Uie ouuriu Ullly
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Example — Shoot is to Gun as Eat is to.....

(A) O Hunger

(B) O Thirst

(C) © Dinner

(D) O Fruit (Correct Answer)

Question No.74 (Question Id - 75)

Match List - | with List - 11 :

List - | List - 1l
A. Neutrophils I. Produces antibiotics
B. Erythrocytes Il. Engulfs bacteria
C. Lymphocytes lll. Releases chemicals
D. Thrombocytes IV. Carries oxygen

Choose the correct answer from the options given below :

O A-1,B-I,C-lI,D-1V
B)O A-ILB-I,C-1I,D-IV
(©)O A-II,B-1IV,C-1,D-lll (Correct Answer)
(D)O A-IV,B-1,C-1I,D-1l

Question No.75 (Question Id - 73)
Which of the following ancient Sanskrit text has principles of Ayurveda and practices ?

(A) O Samaveda

(B) O Atharvaveda (Correct Answer)
(C) O Yajurveda

(D) O Rigveda (Correct Answer)

Question No.76 (Question Id - 54)
In each of the following question; three words are alike in some manner. Spot the odd
one out.

(A) O Nose

(B) O Eye

(C) O Tongue

(D) O Teeth (Correct Answer)

Question No.77 (Question Id - 31)
‘T TEdh I 5fa areraey shefared aRafdd 9 add -
A) O e qeaenier Taaw |

(B) O == qEcTeh T&Twd |

©O cqar geae Toa |
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Given below are two statements :

Statement I:

In a monohybrid Mendelian Cross, the phenotypic ratio in F2 generation will be 3 : 1.
Statement II:

In a monohybrid Mendelian Cross, the genotypic ratio in F2 generation will be 1 : 1.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(A) O Both Statement | and Statement Il are correct.

(B) O Both Statement | and Statement Il are incorrect.

(C) O Statement | is correct but Statement Il is incorrect. (Correct Answer)
(D) O Statement | is incorrect but Statement Il is correct.

Question No.80 (Question Id - 30)
HT] AT FFaEe Tehaaeted 9 Ieid -
(A) O HATA: (Correct Answer)

B O amg
©) O #my

(D) O Aaraik

Question No.81 (Question Id - 3)
FAA + 3E 5cITT Aieel T -

(A) O 7 37 (Correct Answer)
(B) O Fe

©) O mE

D) O mfyzg

Question No.82 (Question Id - 2)
TSI + INE ST Tee F% -
A) O argam:
(B) O argarer
©) O mzaite:
(D) O argeita: (Correct Answer)

Question No.83 (Question Id - 47)

If in a clock the number from 1-12 are replaced with alphabets starting from F; then
which of the following options shall indicate time as 9 o’ clock ?

(A) O M-P

(ByO QN
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(A) O nucleus

(B) O mitochondria
(C) O liposomes
(D) O cell wall (Correct Answer)

Question No.86 (Question Id - 98)

On converting 25°C, 38°C and 66°C to Kelvin scale, the correct sequence of
temperature will be :

(A) O 298 K, 311 K, 339 K (Correct Answer)
(B) O 298 K, 300 K, 338 K
(C) O 273K, 278 K, 543 K
(D) O 295K, 310K, 338 K

Question No.87 (Question Id - 81)
Which among the following have open circulatory system ?

A. Arthropoda
B. Mollusca

C. Annelida

D. Coelenterata

Choose the correct answer from the options given below :

(A) O Aand B Only (Correct Answer)
(B) O CandD Only
(C) O AandC Only
(D) © BandD Only

Question No.88 (Question Id - 91)
The atmosphere is held on the earth by :
(A) O gravity (Correct Answer)

(B) O wind
(C) O clouds
(D) O earth’s magnetic field

Question No.89 (Question Id - 13)
Sellcdeld 8¢ &: JATH: ?

(A) O waferawATa: (Correct Answer)
(B) O srerhemaaara:
©)O caregwame:

0O agciferamer:

Question No.90 (Question Id - 15)
T + Fd’ FeTole Ao TG Teid -

A) O g (Correct Answer)
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Question No.92 (Question Id - 69)
Most of the active components in Ayurvedic formulations are :
(A) O Plant primary metabolites

(B) O Plant secondary metabolites (Correct Answer)
(C) O Plant lipids
(D) O Plant enzymes

Question No.93 (Question Id - 52)

In the following question, select the number(s) from the given options for completing the
given series.

80, 64, 48, 32, 16, ?

(A)O 4

(B) O 0 (Correct Answer)
(€O 8

DO 1

Question No.94 (Question Id - 42)
In the following questions, select the right option which indicates the correct code for the
word and letter given in the question.

If CHAIR is coded as FKDLU; then RAID will be coded as :
(A) O ULGD

(B) O ULKG

(C) O ULDG

(D) O UDLG (Correct Answer)

Question No.95 (Question Id - 19)

et - 1 arfereT - 2
A HagH: . &4aq
B. [0/ I AQY
C. Uidddq ICE|
D. THek: VAR5 |

O A-lIl,B-II,C-I,D - IV (Correct Answer)
B)O A-1,B-III,C-1I,D-IV
(CYO A-IV,B-1,C-1ll,D-II
(D)YO A-1,B-1I,C-1IIl,D-IV

Question No.96 (Question Id - 77)
www.FirstRanker.com
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TTereT - 1 arfereT - 2
A ST |, TOTEE:
B. Gaf¥ I, JTfeErE:
C. 9O ® 11, TUGTE:

o V. QdEughE:

O A-IV,B-1,C-IlI,D-Illl (Correct Answer)
B)YO A-ILB-Il,C-1I,D-1IV
C)O A-IvV,B-I,C-1I,D-1l
D)O A-ILB-Il,C-lI,D-1IV

Question No.98 (Question Id - 24)
TH HTAY: JCAPRET FUATGTEY Thaaeled &Y delc] -
A) O Freafy
B) O afreafa
(€) O Fwafy (Correct Answer)
D) O Feafy

Question No.99 (Question Id - 87)

The instrument which is used to measure the magnitude of current flowing through a
circuit is called :

(A) O voltmeter

(B) O galvanometer

(C) © ammeter (Correct Answer)
(D) O barometer

Question No.100 (Question Id - 63)

The process of photosynthesis involves the reaction,
CO;y + H,O — Glucose + + Water

The missing component of this reaction is :

(A) O CO

(B) O Hy

(C) O HCHO

(D) O O, (Correct Answer)
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